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Find the volume of the solid generated by revolving the region
bounded by y = x” and the lines y=1abouttheliney=1
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Find the volume of the solid generated by revolving the region

bounded by y = x” and the lines y =1 about the liney =2
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P. 408 39b side %V'Scl’uu‘c
The base of a solid is the region between the curvand

the interval [(, 7] and the x-axis. The cross sections perpendicular to
the x-axis are squares with bases running from the x-axis to the curve.

Find the volume of the solid.
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0. 408 42 =iy x=Hhog

The base of a solid is the disk x” + y2 = 1. The cross sections by
planes perpendicular to the y-axis betweeny=-1andy=1are
isosceles triangles with one leg in the disk.
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0. 416 #11

Find the length of the curve
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